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Distance  betweers Foints & Line Seoments

M E = (x, 3:‘,3:} and JF: i (Xz,*ﬂ;.f 2/ Fhen %r 0’*'}‘{'&71&#’
hne J'EJ”’M*W f;an': ff o g s o Ve ctor

}?Fi = (‘X:."'xu;, 192"%,3 31‘3,) = P—z"Pi

"ﬂ'ie Cff:rf:’mu_ 6&%#1‘? /? F‘g ir J}re /MMJ#\Q /f}LE
SEM {_ﬁﬁﬁf&?"ﬁy themn., We Cun g‘haw:__

d(R,B) =~ &%)+ (9,97 (m-3) = |77
Lede puat F ol he nﬂ'z(:ﬂ se = (0,0,8) and £ = (%9, 3)

k

We G'?Pt?"r s M\a%ﬂ{w U™ o He o 4ria - in -(Xg)*P]aﬂ.ﬂ..
Theu a,aa&'{n a?pl% o ® rean Th"™ *u?@‘:bm s oy

BRI = Vo) + 3/ = A xPevt s

#

Eﬂ_fs_w_h W s cubhiciecd Yo pfaué_ Yis Hir P o= beyo, u) ez
W p# (0,0,0) Yhen we cowld dranglats both P, and

Pa by -% s thed BT (000 and Bl=R-p.
T we chift beth ?m'wh Eimmlhnem;hﬁ Pren the Some
dirﬁu‘mr’ \\na Stgmwj) waneck Hhem (ﬂ__l%&wg{q %
based o the origun instead of P )

E4 v P
W V : 'i'n.ﬁsliﬁon

sy | P

p T(p)=9?-P

“ranclaki on
.b‘a - ?1
ﬂpﬂr#-'hbﬂt

>4




Lug/& of fine feg-mm{ th = aﬂ*:mﬂf;'.:ﬁf
TA B= (Xi) and R=(4:) Fr I=42,..,n 1hen
IRB] =N Ca-% F & (9-%) ¢+ (D= X0 )
‘c—hxmmrpi’lef 2 Chooce F = 0O
n=1 1% =~y
n=z  [(4,,9)] = Y4+ ¢
n=s 1(9,%,%)] =9 +32+9;

Hemack: his is +he Guclidean %qpea/c/u/mce There are other tcdea,
/]? ff”"?’k‘ﬁ with his idea of dirfnc is ¢afled E-uc,,{ufeaﬁ

Space . It ic Ahe %omé?‘g nataced 1o Clascicad Mewtonran Weheares.

@ * TThe serere of RaDWS R based o (.5-‘, b, C) o
e ol&_fg'he.cﬁ +o be Yhe collechon oA ol F=(><,‘ﬂ,'§,) & ﬂa"' Swoh

b \P-p| =R >0. Thed &

'\l (K-&)aqr[xg by 4 (-;&_E)z = R
{(\A ﬂ) % 5= b) * (%-c) —RJ ".S-ther:a ﬁ'p ro:ff.m; 2t

F'_lbna’ d:}ﬁnm ‘{;ﬁ-m /Dm'ﬂ'f (f .|lIII f 7‘5 Xg “P/w 72]”
rﬁ'ﬂk !'; 6 Conrlfijor agneemanls '74‘-2

du‘l’anw b the closest pam?‘“
on tha Xy — p /arm 4 (1,1,

(1) =p
_ s We can JSee this  mud be
d i ‘H‘E df'_r/zwce d in #\p’P"CMf‘

_"(I_II‘U)'-':G
| P-a) = \I(hhl)-(l L,0)| = \(e,0,1)] = ¥ = U

@UES‘hanr }]uw “)LD do q%u l-f wie /)NJ an ﬂfé!‘ffﬁf 4!//?&; /&'«41
" T4 not ?,wrfe ja easy , 1§ 42 We wif learn hsls o help LUI‘H'l this.




Vectors in K 7
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